N = 0l & AF & F Al A
SH W2
HE: BYSHAL (YLD (IEHIIE
erel: Jl= | (el a9
SA-E . S(E) - MEAY - BES 01l &4 24 pJE-T HIRE
X < ot 1,551,650 1,527,911 23,739
= 0 6,213 26,213
S 42,800 0 42,800
= 1,508,850 1,521,698 N 12,848
HH2EZHI(MHR)(IIEHIIE) 90, 131 97,278 AT, 147
Jl=&Hl 64,331 71,478 AT, 147
Jl=&Hl 64,331 71,478 AT 147
201 LEH=2 | 26,882 29,868 N2,986
01 AtS 22/l 26,342 29,268 N2,926
OAtR2Z2dl B ZE -2,926,000& A2,926 0 N2,926
02 2323l 540 600 260
OZ2323Hl HaEH= -60,000& 260 0 260
202 Oddl 37,449 41,610 A4, 161
01 WY 37,449 41,610 A4,161
O=UWHHl oaE2= -4,161,000& A4,161 0 A4, 161
NEHEeS (LSS /ALY - HEXH) 301,550 283,257 18,293
= 0 6,213 NB,213
= 301,550 277,044 24,506
KA 21 99,307 100,616 A~ 1,309
I, =AlIE NLARDH 99,307 100,616 A 1,309
201 L2l 50,481 56,090 A5,609
01 AtR2teld] 17,406 19,340 A1,934
OAtS2edl HaE2E -1,934,000& A 1,934 0 A1,934
02 =234l 33,075 36,750 A3,675
OBZ2YYl HMEAR 3,675,000 73,675 0 73,675
202 Oddl 10,800 12,000 A 1,200
01 WY 10,800 12,000 A 1,200
O=UWHHl olaE2= -1,200,000& A 1,200 0 A 1,200
403 AXIHHS K201 25,500 20,000 5,500
02 BII2SHHSCHA AL I 25,500 20,000 5,500
ONSHENE G2 NLHZZAIAL ToHe
AN (SEW2A) 11,000, 000& 11,000 5,500 5,500
2z 2dMR 22 7,900 8,500 2600
NI AL AAl 7,900 8,500 A600
202 Oddl 3,600 4,000 A400
01 WYl 3,600 4,000 2400
O=UWHHl olaE2= -400,000& A400 0 2400
203 ¥R =&d| 2,400 2,500 A 100
03 AIMZ=XHFFEH| 2,400 2,500 A 100
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o NFEWRASE(LEHT
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SN CR(EH) - NRAY - BES 01l &k o 013 o HRE2
OANME=NHLSFAH OatE2Z2=  -100,000 A100 0 A 100
303 Ea=z 1,900 2,000 A 100
01 Z&3 1,900 2,000 A 100
OZa= HaETE -100,000& A 100 0 A 100
2FA A& 75,064 81,426 NG6,362
HE =D AF, SAl 70,339 76,176 N5,837
201 et=gl 48,938 54,375 N5,437
01 AtR 22/t 42,975 47,750 N4 TTE
OAtR2edl HaEHE -4,775,000& N4TT5 0 N4, TT5
02 =23l 5,963 6,625 AB62
O33=22Hl BT =E -662,000& A 662 0 A 662
202 O4Hl 3,600 4,000 A 400
01 2LHoiHl 3,600 4,000 A400
O=UWAHHl oaES = -400,000& 2400 0 2400
T &HAl = 20 4,725 5,250 A525
201 etE&l 4,725 5,250 AB25
01 AtS 22/t 4,725 5,250 A525
OAtS 2elHl HaEHE -525,000& A525 0 2525
ANYA(Ll) &2 99,99 73,432 26,564
= 0 6,213 N6,213
= 99,996 67,219 32,777
A== M1 99,996 73,432 26,564
= 0 6,213 N6,213
= 99,996 67,219 32,777
201 etE&l 19,930 22,145 N2,215
01 AtR 22/t 18,715 20,795 A2,080
OAtS 22Hl HaEHE -2,080,000& 2,080 0 A2,080
02 =234l 1,215 1,350 A 135
OZ3322Hl HaEZ=E -135,000& 2135 0 A135
202 O4H| 6,372 7,080 AT708
01 WYl 6,372 7,080 AT708
O=UnHl oaES= -708,000& AT708 0 A708
303 L&z 5,890 6,200 A310
01 Z&32 5,890 6,200 A310
OZa=a HaELE -310,000& A310 0 A310
403 XXM SA=01H 23,418 23,426 A8
= 0 6,213 N6,213
i 23,418 17,213 6,205
02 S/ 2SOCHEHCHE A HI 23,418 23,426 A8
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ME: GFEHLLE(LUDTYY/ ML - HIAR)
Sl XIAI(S) B (e
SN H - SR(EH) - NPAMY - BES 0fl o ol o bl m =2
ON2=2 H2AAE D FUAY 2ES
(SEW2A) 12,418,000& 12,418 12,426 A8
= 0 6,213 NB,213
= 12,418 6,213 6,205
405 XtotE SHI 33,705 3,900 29,805
01 MHARESFSH 33,705 3,900 29,805
OMEAtg SHAMSX e
,000,000& » 14! 30,000 0 30,000
OXE =S FHSH! o -195,000& A195 0 A195
SNTM HY(LUDTTBY/ MY - HEAR) 76,329 83,567 77,238
SHe A KA 62,649 68,367 N5,718
SST0HAH 7,452 8,280 N 828
201 LetEEl 4,212 4,680 N468
01 AtR2teld] 4,212 4,680 A468
OAtS 22ldl olat= 2 -468,000& N468 0 A468
202 (4Hl 3,240 3,600 A 360
01 WY 3,240 3,600 A 360
O=LoHl HaE2=2 -360,000& A 360 0 A 360
Xs2el 31,689 33,967 N2,278
201 LEH2HH| 18,978 21,086 N2,108
01 AtSR22/Hl 14,028 15,586 AN 1,558
OAtR2t2dl olat2ZE -1,558,000& A 1,558 0 A 1,558
02 3323l 4,950 5,500 A550
OZ2323H ez -550,000& A 550 0 A 550
202 (4Hl 1,080 1,200 A120
01 =AY 1,080 1,200 A120
O=UuHl oaEZ = -120,000& A120 0 A 120
203 HRF4Hl 950 1,000 A50
03 A=A HL=LH| 950 1,000 A50
OAIMF=TH2FAH| 0 &  -50,000& A50 0 A50
SAHAHS & H3 23,508 26,120 N2,612
201 et 21,348 23,720 N2,372
01 AtR2teld] 21,348 23,720 N2,372
OAtR22/Hl olatE 2 -2,372,000& A2,372 0 N2,372
202 (4Hl 2,160 2,400 N 240
01 =AY 2,160 2,400 A240
O=UuHl oaEZ = —240,000& A 240 0 A 240
SA2I| 3l AKX 13,680 15,200 A 1,520
MEEDN g2t 13,680 15,200 A1,520
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Sl =AR| SAHe (25l &2
SH-EH . C(BH) - NRAY - BES O AF o8 )= e bRz

201 Yer2 YY) 11,520 2,800 A1,280

01 A2l 11,520 2,800 A1,280

OARZ2IY HaEZE ~1,280,0002! ~1,280 0 A1,280

202 Oft| 2,160 2,400 A240

01 =2Uioibl 2,160 2,400 A240

OZUHoIl olarz2s ~240,000% A240 0 A240

THAHBIR| (LB BN /2B ) 1,083,640 1,063,809 19,831

= 42,800 0 42,800

= 1,040,840 1,063,809 £22,969

A2 615,038 617,288 A2,250

A ARR FHIZA 223,650 225,900 A2,250

401 AlZHIL 2O 223,650 225,900 A2,250

01 Al&t] 222,750 225,000 A2,250

OAEHl =2 ~2,250,0002 A2,250 0 A2,250

22 2 xzze 409,256 428,730 ~19,474

22 2 Y 245,069 246,300 A1,231

405 THAHE S 245,069 246,300 A1,231

01 RMUSEHSH| 245,069 246,300 A1,231

ORMNUSTHSH KARLE 1,231,008 A1,231 0 A1,231

Az sx e 164,187 182,430 £18,243

201 LBty 149,607 166,230 £16,623

01 At el 5,400 6,000 £600

OArRZ2IY HaELE ~600,0002 A600 0 A600

02 IT2YH| 144,207 160,230 £16,003

OZZ2gHl HaRLE ~16,023,0002 £16,023 0 £16,003

202 04t 14,580 16,200 A1,620

01 2Uioibl 14,580 16,200 A1,620

O oIl oAz ~1,620,0002! A1,620 0 A1,620

2, 3 Hawe 59,346 17,791 41,555

= 42,800 0 42,800

= 16,546 17,791 A1,245

2,38 Moz 59,346 17,791 41,555

= 42,800 0 42,800

= 16,546 17,791 A1,245

101 2124l 14,416 5,341 9,075

= 9,075 0 9,075

2 5,341 5,341 0

04 JIAH2EZXES4 14,416 5,341 9,075

ORTRML TAH AR (HSH)
3,002 %252+ 11 £ &1 9,075 0 9,075
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B MeEel(LUBIHE/LUHE)
=Rl =, 7 a2 ? A
SN EB -GS - MBAY - BES arey 2
S 9,075 0 9,075
201 LetEEH] 14,690 8,850 5,840
= 6,725 0 6,725
= 7,965 8,850 A 885
01 AtR2teld] 14,690 8,850 5,840
ORRMAZE A2E 22 L =2 28 B}
=3 (J8H) 4,225,000& 4,225 0 4,225
= 4,225 0 4,225
O=ZsMate] SAH(Z8A) 2,500,000& 2,500 0 2,500
S 2,500 0 2,500
OArR2eldl HaEHE -885,000& 2885 0 2885
202 ¢4l 25,240 3,600 21,640
= 22,000 0 22,000
= 3,240 3,600 A 360
01 WA 25,240 3,600 21,640
O=2sMarze| GEl(88A) 22,000,000& 22,000 0 22,000
S 22,000 0 22,000
O=UWnHl oaEZ=2 -360,000& A 360 0 A 360
405 AHoHESHI 5,000 0 5,000
= 5,000 0 5,000
01 T =S FH SHI 5,000 0 5,000
O= - 37X MHatze| FIALE AIAE
(8gA) 5,000, 5,000 0 5,000
S 5,000 0 5,000




